
PC – Trig         Name ________________________ 

Graphing the way our ancestors did in the period B.C. 

1. � = 2 sec� 

 

 

 

 

 

 

 

 

 

 

 

 

2.  � = 3 csc � 

 

 

 

 

 

 

 

 

 

 

 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 



3.  � = cot
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4.  � = 2 sec
�

�
 

 

 

 

 

 

 

 

 

 

 

 

 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 



5.  � =
�

�
csc 2� 

 

 

 

 

 

 

 

 

 

 

 

 

 

6.  � = 2 tan2� 

 

 

 

 

 

 

 

 

 

 

 

 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 



7.  � = cot(� +
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8.  � =
�

�
tan(� −
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Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 



 

9.  � = tan(2� − �) 

 

 

 

 

 

 

 

 

 

 

 

 

 

10.  � = 3 csc(� +
�

�
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Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 



11.  � = −2csc
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12.  � = 2 sec(
�

�
+

�
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Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 

Period = _____________ 

 

Amplitude = __________ 

 

Phase Shift = _________ 
 
Vertical Shift = ________ 


